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R OBA%ES U LORI%L
f: U—-R, g: U=>R

MNEZHNTVWRE LET.
M g(x,y,z)=0 OTFTT w=f(x,y,z) Z&Xt-&HMb

Po(a,b,c) e UIZBWT
82(Po) #0, g(Po) =0
ZARET 5.
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FERIECEM 2 W5 & Po @it < THAME g(x,y,z) = 01

z=(x,y)

rERINS.
F(x,y) = f(x,y,0(x,y))
YED DL, Py THA (W) 72861F

Fx(a,b) = Fy,(a,b) =0

einh.
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Chain Rule

Fo,F, 2Rk % &
Fx(a, b) = £(Po) + £(Po) - ox(a, b) = 0

Fy(a, b) = f,(Po) + £-(Po) - ¢y(a, b) =0
2%, g(x,y,0(x,y) =025

gX(PO) + gz(PO) . QOX(aa b) =0

gy(Po) + g:(Po) - ¢y (a,b) =0

CIRBEMD

__&(Po) _ &(Po)
Px(a,b) = ~ g(Po)’ eyla.b) = g2(Po)’
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KAT 3L )
Ex\Fo
Fx(a, b) = £(Po) — £z(Po) - 2.(Po) =0
Fy(a,b) = £,(Po) — £(Po) ?gzg 0
Lixh¥T.
= fz(PO)
gz(PO)
CEDDE

f.(Po) + Agx(Po) = 0, f,(Po) + Agy(Po) = 0, £,(Po) 4+ Agz(Po) =0
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g-Po) #0, g(Po) =0
DY &, Py TR (720300 2o, BB ANERPFMELT

o O O o
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(1).(2).(3) &
V(f)(Po) = =AV(g)(Po)

vy &5, i g(x,y,z) =0 LHITE f(x,y,z) = f(Po) 3 Po THELTWS Z & 2 BT .
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